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COpok ceabMOM ypOK

4 7 Texcr:

Moit asins ObUT apecTOBaH
My uncle was arrested

[47.A Perfective (Past) Passive Participles — PPPP: Form

Somewhat unexpectedly, only perfective verbs can form past passive participles in Russian. So we’ll refer to
these as PPPP’s: Perfective Past Passive Participles. (In 19™-century Russian it was possible to form passive
participles from imperfective verbs as well, so if you’re reading Tolstoy or Dostoevsky and run across what looks
and smells like a PPPP, but is from an imperfective verb, don’t panic.)

PPPPs are by far the most common of the four participles we’ve seen, and can even be used in speech (in the
short-form). Sadly, they are also the most complicated to form, so we’ll spend two days going over the formation
of PPPPs.

There are three suffixes used to form PPPPs, depending on the stem: -H(H)-, ~-€H(H)-, -T-
(Remember - only from Perfective Transitive verbs):

1) Stems with ‘a’: -H(H)*-
*We’ll explain the second (n) below.

Verbs that have an {A} in the latter part of their stem (i.e. in the suffix) use the suffix -u(u)-. The {A} will be the
final letter of the stem for all verbs except {A}ii-stems. Here are the various stems that form PPPPs with -u(u)-:

A-Stems Non-Syllabic {A}A-Stems {O}BA-Stems | Xa-Xa-Stems Misc. “A”
A-Stems
HaMuCa+ BEIOEpa+ (€) MIPOYUTAN+ apecToBa+ yCIBIIIa+ MoCTa+

This suffix is also used with any verbs—normally prefixed—built on the irregular verb gaTs, as seen in the final
example below.

Stem with {A} in Suffix Past Passive Participle
(in various CNGs)
HaNUCA+ HaINVCaHHBIN
BBIOEpa+ (€) BBIOpaHHBIC
HpOYHTAI+ MIPOYNTAHHYIO
apecToBa+ apecTOBaHHBIX
yCIIBITIIa+ YCIBIIIAaHHBIMH
oCTa+ nOCIaHHOE
IpOJIATh NpOIaHHOM

Note that this d>oes not include many double-stem verbs with an a in the past/infinitive stem ({Haun+ / Ha4a+};
{noguum+" / moxusi+}). More on these later.
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@ Form a PPPP when possible — remember, only transitive perfective verbs can form a
PPPP. Use masculine singular nominative. Don’t worry if you get the wrong stress — for now.
We’'ll discuss this in an upcoming lesson:

1. Hammca+ 2. HOYEBA+

3. apecToBa+ 4. mommepxKar

5. mpouuTaii+ 6. BBIICHAPHUBAI+...CS

7. ybepar (e) 8. mocnd+

9. paboTaii+ 10. 3apaboraii+

11. oTnare 12. nasosa+ (0) (call — perfective and transitive)

2) Consonant stems (= B/H), WE-stems: -EH(H)-

€69 €69

Consonant stems (but not “B” or “u”’—see below) as well as u-stems and e-stems attach -éu(u)-. Consonant
mutation occurs in u-stems and e-stems as a result of V'+V2 > V2 truncation, as well as in verb stems ending r
and K, similar to the present tense where r>x and k > 4 before endings beginning with {O}. Other consonant
stems—e.g. stems ending in 1, ¢, T, 3— do not mutate—since there’s harmonious C+V. Also note that when the
stress is not on the ending itself, & > e (similar to the “middle forms” in the present tense of 1* conjugation verbs).

(By the way, there are very few PPPPs from e-stems because very few e-stems verbs are transitive. Just thought
you’d find that interesting.)

Here are all the possible consonant mutations:

Mutation Stem PPPP
>k (km)* obune+ OOMKEHHBIN
3> K CHU3HU+ CHIDKCHHAS
c>1 Opocu+ OpOILICHHYIO
CK > 111 HpOMyCKa+ HpOMNYIEHHAs
CT > 111 BBIPACTH+ BBIpAIIEHHOE
T> 9 (m)* 3aMETH+ 3aMEYCHHOMY
6> 06n yHnoTpeon+ yHoTpeOIEHHBIMU
M > MIT HaKOPMIt+ HAKOPMJICHHBIN
o> KyTIi+ KYIJIEHHOM
B > BJI MMOCTABH+ MMOCTABJICHHBIH
r> K MOCTpHUT+ MOCTPHKEHHAS
K>4 HCTIEK+ HCIIEYEHHYIO
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___________________________________________________________________________________________________________________________]

In some cases a1 mutates to k71 (ocBo6OIA+ > 0cBOOOKIEHHBIN) While T changes to ur (Bo3BpaTi+ >
BO3BpaméHubiii). Don’t worry about this for now.

Here are examples of various stems that use the PPPP ending -én(u)-:

Consonant (#B/H), U-/E- Past Passive Participle
Stems (in various CNGs)
cnac+’ criacéHHast
npuBE3+ MIPUBE3EHHOMY
nepeBen+ NepeBe/IEHHYI0
MOAMET+" HOIMETEHHBIN
HOCTpHUL+ MIOCTPIKEHHOE
HCHEK+ HCIICYEHHBIE
KYTIit KYIJICHHBIMU
oCTpOH+ MOCTPOEHHBIE
ooune+ 00V>XKEHHOMY

PPPPs built from stems containing the motion verb root ia+ go use the present tense/infinitive stem. For now, it’s
best to memorize the form Haiinennprii from the verb naiith find.

{maiig+’ / mamé+" (&)} HAIeHHAS found

@ Form a PPPP when possible. Use masculine singular nominative. Don’t worry if you get the
wrong stress — for now. We'll discuss this in an upcoming lesson:

1. cmpocii 2. cumé+

3. {maiin+" / Hamé+" (€)} 4. ucnék+
5. moamér+’ 6. ykpai+
7. yBés+ 8. yufit...cq
9. mnpunéc+’ 10. obume+
11. 6pocu+ 12. octaBu+

3) All other stems: -T-

The group of verbs that attach -1- to form a PPPP is a real hodgepodge. It includes all double- and triple-stem
verbs, as well as Hy-stems, B-stems, H-stems, and o-stems. To be honest, there aren’t very many Hy-stems, B-
stems, H-stems, o-stems that have a PPPP. Note that with these stems, there’s no question about a second H in the
suffix, as we saw in the previous two types. More on this below.

Double-Stems | HY-Stems B-Stems H-Stems O-Stems | Triple-Stems (P-Stems)
{BO3bM+ '/ B3} | OOMamHy+ TIEPEIKHB+ ONIeH+ HaKOJIO+ {3anp+’ / 3amep+ / 3amepé+}
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As expected, double- and triple-stem verbs use the past (infinitive) stem (to which consonant endings are
normally attached) to form PPPs.

We actually have a mnemonic for this whole group: NU-R-V-O-NO. (The “R” refers to triple-stem verbs like
{3anp+’ / 3anep+ / 3amepé+} all of which have the consonant p. As mentioned directly above, use the past tense
stem of these triple stem verbs. The way to remember that double-stem verbs fit into this group is by the double
“0” at the end.)

NU-R-V-O-NO Stems PPPP
< 4
oOMaHy+ 00MaHyTHIE
’ > J3 I3 o
{3amp+" / 3anep+ / 3amepé+} 3armepToit
r > . r I
*NEPEKUB+ Survive NEPEKATHIC
HAMOTIO+ HAMOIIOTOE
OJIEH+ OJIETHIN
’ > ’ )
{BO3XKM+" / B3s+} B3SITHII
{BBIIILI+ / BBITIN+} BEIITUTOMY
{cmoii+" / crié+} criéras
{OTKpOH+ / OTKPEBI+} OTKPBITOE
{3a0ym+ / 3a0BI+} 3a0BITYIO

*The stress on thi>s verb, the perfective of mepe:xkmBaii+, is rather complicated. For now, the easiest thing is to
treat it like skuB+ with the prefix mepe- attached.

Note that there are no PPPPs from {-aii+" / -aBaii+} stems like {maii+" / maBai+}, {Bcraii+  / BcTaBaii+} since they
are all imperfective.

Form a PPPP when possible. Use masculine singular nominative. Don’t worry if you get the
wrong stress — for now. We'll discuss this in an upcoming lesson:

1. {Bo3pM+’ /B3$>{+} 2 nepermLIB+> (swim across — perfective and transitive)
3. {3akpOii+ / 3aKphI+} 4. onéu+
5. {3abyn+/ 3a081+} 6. obMaHy+
7. {Opéi+/ opn+} 8. {BBINbii+ / BBIIH+}
9. 6opo+...ca 10. HaKonO+ (puncture — perfective and transitive)
11. {cotp+" / ctép+/ cTepé+} (wipe off — perfective and 12. {Haun+ '/ Haud+}
transitive)
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Summary of PPPP Formation
(From Perfective Transitive Verbs Only)

Stems

Ending

Examples

¢ Ending or Suffix Has {A}
(except double-stem verbs)

-H(H)-

HaMUCa+ > HaNCAHHbII
MPOYUTAN+ > IPOUNTAHHAS
apecToBa+ > apecTOBAHHBIX
BBIOEpa+ (€) > BeIOpaHHOE
MOCJTa+ > OCIaHHbIe
HOJIepsKa+ > HOAEPKAHHOMY

MPOJIATH > MPOJAHHYIO

e InaConsonant#B/H
(Mutation of k>4, r>% only)

e InMW/E (V+V Mutation)

-EH(H)-

KyIit+ > KYIUIEHHBIH

nepeBén+ > nepeBeaEHHas

HUCTIEK+ > UCTICUEHHBINA

{Haig+" / Hamé+" (€)} > HaleHHbIe
oouIe+ > 00MKEHHBIM

yHEC+ > yHECEHHAs

e HVY-P-B-O-HO
e Double/Triple-Stem Verbs

006MaHy+ > 0OMAHYTHIH

{3anp+" / 3amep+ /3amepé+} > 3armepTas
IIEPEILIBIB+ > TEPEIUIEITYIO

HAKOIO+ > HAKOJIOThIE

HaAEH+ > HanéTast

{mo¥im+" / moHsi+} > nOHsTOE
{OTKpO#+ / OTKpEI+} > OTKPHITHIE

{nmoOpéit+ / moOpw+} > MOOPUTHIX
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[47.5 Perfective Passive Participles: Meaning

PPPPs refer to what happened/will happen to a noun. (More on the tense of PPPPs later.) As with present
passive participles, only verbs that take an accusative direct object can form a PPPP.

Recall that the subject of the active sentence may appear in the instrumental (with no preposition) in the passive,
normally with the meaning “by”.

47.b.1 Short-Form PPPPs in predicate position: One ‘H’ or ‘1’

First let’s look at sentences with a short-form PPPP, which are “derived” from active sentences not containing
kotOpeiii. Here the PPPP is found only in predicate position, after some form of the verb be. Short-form PPPPs,
like all other short-from adjectives, reflect only the gender and number of the subject, and appear only in the
nominative.

When presenting the various endings for PPPPs above, we saw that for the endings containing the consonant ‘H’,
a second ‘H’ was given in parentheses. It turns out that short-form PPPPs contain a single consonant in the
ending, either ‘0’ or ‘T’. (And, you guessed it, long-form PPPPs contain a double ‘“an’—more on this below)

Recall from our discussion of present passive participles that the nominative subject of the active sentence can
optionally be expressed in the instrumental in the passive sentence.

Active (No koTOpbIN) Passive (Short-Form: Single ‘H’ or ‘T’)
Komutét pemut 3tot Bonpoc. Srot Bonpdc GbUT peléH (KOMUTETOM).
The committee resolved that question/issue. That question/issue was resolved (by the committee).
TBoit OTBET MeHs OueHb OOH/ICII. S ObL1a OUeHb 00¥KEeHA (TBOUM OTBETOM).
Your answer really offended me. 1 was really offended (by your answer).
[MoxxapHUK cnac JTOIIanei. Jlomamu OBUTH CTIACCHBI TTOKAPHUKOM.
The fireman saved the horses. The horses were saved by the fireman.
XuUKOK CHSI 3TOT QriibM B 1964 rony. 1ot GribM 6bLI CHAT B 1964 roxy (XudkOKom).
Hitchcock filmed/made this movie in 1964. This movie was made in 1964 (by Hitchcock).
PaGr1 mocTpOMIIM TUPaMHUIBI. [Mupamupl ObUTH TOCTPOCHBI PAbAMHU.
Slaves built the pyramids. The pyramids were built by slaves.

g@ Make the following sentences passive, when possible

1. Tsoii OTBET erd yauBHIL. 2. EMy HHKTO He 3aBHAYeT.

3. IlpemonaBarens HCHPABIII €€ OMINOKH. 4. 3anepmu nBeps.

5. JIéna moBécmiia KapTy Ha CTEHY. 6. Tlokazanu GuibM BceM CTyAETaM.
7. Krto counnnn 310 cTHXOTBOpEHHUE? 8. Bce OynyT cKy4aTh 11O HEMY.

9. Mrma ypornn 6ymara. 10. ConnaTel criac CIIOHOB.

11. 3xecs He xBaTaeT MécTa. 12. Iomvmms octanosnia I1oma.
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47.b.1

Long-Form PPPPs: In non-predicate position; Double ‘H’ or single ‘1’

Now let’s look at examples with long-form PPPPs, which are equivalent to relative clauses with accusative
koTOpeIi. Recall our who/which/that rule for translating all long-form participles! (It can be a pain, but it works.)

Long-form PPPPs can either precede or follow the noun they modify, with which they agree in case, number and
gender. As mentioned above, long-form PPPPs with an H in their ending have a double HH (Han¥icaHHBIH,
ymuBnénnas), while those with T contain a single T (YorTBbIX).!

Active (With Accusative KoTopbiit)

Passive (With Long-Form PPPP: ‘HH/T’)

I'ne ThI Kyniut 3Ty KHUTY, KOTOpYIO Hamucan Toncton?
Where did you buy that book that Tolstoy wrote?

I'ne ThI Kyt 3Ty KHUTY, HarmicaHHyto ToncTeiM?
Where did you buy that book that was written by Tolstoy?

Sl monmy4nn mucbMO OT YesToBEKA, KOTOPOTO BCe
3armoA03pUiIu B yOUHCTBE Tpe3nIEHTA.

1 got a letter from the person whom everyone suspected in
the murder of the president.

S monmydnn mucbMO OT YeNTOBEKA, 3aI10I03PESHHOTO B
yOUiiCTBE Mpe3naEHTA.

1 got a letter from the person who was suspected in the
murder of the president.

MHe HpaBsTCS PAITBEMBI, KOTOpPBIE CHST béprMaH.
1 like the movies that Bergman filmed.

MHe HpaBsiTcst QrIbMBI, CHATBIE béprmaHoM.
1 like the movies that were filmed/done by Bergman.

Bce roBopsiT 0 pomMaHe, KOTOPBIN TIepeBET Mo Opart.
Everyone is talking about the novel that my brother
translated.

Bce roBopsT 0 pomane, repeBe1EHHOM MOUM OpATOM.
Everyone is talking about the novel that was translated by
my brother.

Ms1 cMeéMcest Haj KapTHHAMH, KOTOpbIe HAPHCOBAIA
Méma.
We're laughing at the painting which Masha drew.

Ms1 cMeéMcs Haj KapTHHAMU, HapUCOBAaHHBIMHU
Mameii.
We're laughing at the painting which were drawn by Masha.

As you would expect, PPPPs with entire phrases can be “pre-posed” in front of the noun:

KynjieHnslii ABa THS HA3A JOM IPUHAIKAT

MIPE3UIACHTY.

Yt0 THI 3HACHIH 00 ApecTOBAHHOM BUYEpa YeTOBEKe?

OH BirOOWIICS B 0A€TYI0 B KPACHBIE OPIOKH
JEBYIIKY.

The house that was bought two days ago belongs
to the president.

What do you know about the man who was
arrested yesterday?

He fell in love with the woman who was dressed in
red pants.

! There is talk that the upcoming spelling reform in Russia will eliminate this mu in PPPPs. All forms—both short and

lon%—will have a sin%le . We’ll keeB zou Eosted.
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% Rephrase these sentences using long-form PPPPs when possible

41 He 3aBHYIO YENOBEKY, KOTOPOTO Ha JHAX apeCTOBAIH.
Uto TBI AyMaenib o GUIbMe, KOTOPBIN CHSIT XHIKOK?
Hukto6 He yBaxkaeT nmpodéccopa, B KOTOPOTO OHA BIIFOOMIIACE.

MHe OueHb Kallb )KEHIUHY, KOTOPYIO ATOT HaXaia oOMaHyJI.

1
2
3
4
5. S npbdcto B BocTOPre OT KapTHUHBI, KOTOPYIO BRI Kymvuu B JIOHIOHE.
6. OTkyzaa Tl 3HAENIb JEBYIIKY, KOTOpask CHUMAET 3Ty KBapTUPY?

7. Crakas cTouT népea OyThUIKOM, KOTOpYr0 Mailia mocTaBuiia Ha CTOJI.

8. Kak Tl OTHOCHIIIBCA K JIEBYIIKE, KOTOPYIO 3aCTABUIIN XOAUTh Ha BCE 3aHATHA?
9. BoOH CTOUT 4enoBEK, KOTOPOMY 5 OJIOJIKIII CTO TOJITIApOB.

1

0. TTouemy TeOé HEe HPABSITCS TAPENKH, KOTOPBIC S TPUBE3JIA 13 MOCKBEI?
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[| 47.B Perfect Past Passive Participles: Text — Part 1 ||

1 Ha nusix moit msins 6but apectoBan. OH ObUT MOIMaH NOTAIMEN B a3pOTIOPTY U Cpasy OpoLIeH

2 (mocaxeH) B TIOPbMY, TJ€ eMy MPUHOCAT €11y TOJBKO pa3 B ieHb. OH ObUT 00BHHEH B KpaKe

3  OPWUIMAHTOB M3 U3BECTHOTO KBEJIMPHOTo Mara3iHa. Bece cUUTAIOT, 94TO MpecTyIuiéHue OBLI0

4  coBepuieHé uM. Bo-mépBeIx, yKpaieHHbIC OpMILTHAHTHI OBUTH HAMIEHBI B Y€MOJIAHE Y MOETO JISI/IH,
5  a BO-BTOPBIX, Ha 3a0BITOM UM JOMa OMiIeTe ObLIIA 0OHAPYIKEHA NBLIbL U3 céiipa, KOTOPHII

6  HAXOIUTCS B ATOM IOBEJIUPHOM MarasvHe. Sl He yAMBIIEH, YTO MOJULHKA €r0 MOJA03peBAeT. Y HErd
7  HET HUKaKOro aamdéu. OH TOBOPUT, YTO B ATO BpEMS OH CHAET JIOMa U CMOTPEN TEJIEBU30D, HO HE

8  MOMHHT KaKyl UMEHHO Iepeaauy.

CnoBapb
1 | noBi+ // moiimaii+ catch (Note the “strange” imperfective/perfective pair.) We saw the
related noun joBymika frap in an earlier lesson.
1 | 6pocaii+ / 6pocu+ throw (We’ve seen this in various meanings: dump; quit.)
2 | TropEMA prison
2 | oOBuHSH+ // 0OBUHU+ B + prepositional accuse someone of
2 | kpéxa theft
3 | OpwITHAHT diamond
3 | IOBEeIHPHBINA Mara3uH Jjewelry store
4 | coBepaii+ // coBepuIi+ commit (Related to cosepwénnnbii Bua, which is actually a PPPP.)
5 | oOHapyKuBaii+ // 0OHAPY KU+ discover, find
5 | meutb (Look in the text to determine the dust
gender.)
5 |cetid safe
7 | anmubum (Indeclinable neuter noun) alibi
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Nmn

g YnpaxHéHune 1  Translate the text into natural sounding English

25 YnpaxHénue 2 Form PPPPs, when possible. Do ¥ long-form, % short-form. Don’t worry
about stress — yet. Any verb you are not familiar with is perfective.

1. Hamuca+

3. wncndptH+...ca

5. BcTpéTH+

7. HapuCcOBa+

9. wucmék+’

11. mogmér+’

13. mpunéc+’

15. ynusu+

17. ctpanaii+

19. mpurotoésu+

21. {ymp+ / ymep+/ ymepé+}

10.

12.

14.

16.

18.

20.

22.
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UCTOPTU+

TIPUBEIK[HY |+

{yObii+" / you+}

nepeesKan+

caénaii+

{HOL[HHM+< / H(>)z[H$'{+}

{3aKkpoOii+ / 3aKphI+}

COUMHA+

OMOT+"

oOMaHy+

{cnoti+" / cmé+}



